AESERE-ER
S X Y
T 508. 778 468. 336
T2 500. 000 500. 000
T3 482. 202 542.191
il RERE—RR
A R X Y
NO.0 507. 420 476. 888
NO. 0+8. 000 504. 523 484. 345
NO. 1 500. 177 495.531
NO. 1+10. 000) 496. 555 504. 852
NO. 2 492. 934 514.173
NO. 3 485. 691 532.815
NO. 3+6. 000 483.518 538. 408

T B T E X

$=1:250

ﬂﬁﬁ(mzi\mrﬁﬂm—m 1m2 A \F

7 VirAb U BV (40)

=

— =R
7' LrrabgEsk it (T2)N=15
]

[ [

7 ui«»xriymm)n 15
7° L&vab U BLRIE (40)
(B & 1] N=1EFT

(B4 & 1H] N=15FR ]
Al S N=18 BlEZ (1) [CoZ] N=32B———  TEIEZ (1) [Cos —————@EE (1) [Co
1&3%%8 Eg;’:} N= m;i %ﬁﬂé%u) (6rE] N=24% Pﬁﬂ%*() (6 %ﬂ"iﬁ;ﬁt _g&eal
7 VEvak U EIEIE (10)L=9 7" bEvab U BIEIE (10)L=17. 2m 7" bEvab U BV
o
iy
Nl S = Y
o F 'S — — A ey
Po o o5 e s P B N
Py /‘53 .72 1 _ 1.65 ‘55‘53 &3 o g.z:) ge ‘_:mme \é
_ |
; CoZ) N=18%% E= (1) [CoZ) N=36%% B (1) [CoE) N=441%
}Eﬂgzﬁl EG?ﬁg N=14 ﬁu,ﬁﬁ(@ [GrE] N=24 fiEE @) [(6rE) N= =345
(10)L=9. 3m—7° b#quEM)L 19 Om 7" bEvAb U BB (10)L=23. 7

7" rabgek it (T2) N=12 D 7" Lrab&EK

&= (1) JISSBFEZSOFHCOSE B E B L4 H
;&2 (4) JIS250FHGrE T25 LEEB  /valy7 BRERh LIRS
7 mxwmu;% (10) JlsﬂS#EZSOA

B E Bk EN=18FT (L=1. Tm)

(42) N=1£

[ ]

BRARER : BN
#E QEEI'JXC
W=15cmit &

ﬁ |
o ¢
L: 6 C1+¢ 0
e
1 +€ ON
— ot

2 £ i mE X

$=1:50

NO. 14438

3300

fliEZ (1) JIS3FE250C0% BREFH.L HERE(T

fEiz&av9Y-1 18-8-25BB t=10cm

]

\ 7' U3rARUELEIE (10) JISE3FE250A

\ RAZEIvY)-+ 18-8-25BB t=10cm
VFHT (B X i)

YT T L2

VFH2 (BB E)
BERL RC-40

RE) (2) BEBEHEAs(

‘ 1B L RC-40

13) t=bcem

B

=E ) A:O. 8m2

A& (4) JIS250FGrE 125 T@EE  /vaYy7” BRE L HERE(T

KCOHEEFAMY A XERT LS B,

TS FEILEHEE 2S5

I F 4
BIRETHNERSBIETE

ETERE SRR IEET A

HEOiER FER - RERRER

& R B | HEES |

14

e EHERAELIEEHH




Mo om X ()

$=1:100

NO. 0+8. 000
GH=1.38 W 3 - m2
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e L] 0.02 m2
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